Advantage Arts Academy Board of Directors Meeting

Date: Thursday, July 6, 2023

Time: 10:15 AM

Anchor Location: 6171 W. 11800 S.; Herriman, UT 84096 Teleconference: https://us02web.zoom.us/j/9100240771

This meeting will be held via teleconference.



The mission of Advantage Arts Academy, in alignment with the Beverley Taylor Sorenson Arts Learning Program, is to effectively increase our students' performance in every subject, as well as improve students' core academic capacity, emotional well-being, arts awareness, and social skills.

AGENDA

CALL TO ORDER

PUBLIC COMMENT (comments will be limited to three minutes)

o i-Ready, Magnetic Reading, Ready Mathematics Curriculum

VOTING ITEMS

o i-Ready, Magnetic Reading, Ready Mathematics Curriculum Purchase

CALENDARING

o Board Meeting August 21, 2023 at 10:00 AM

ADJOURN

In compliance with the Americans with Disabilities Act, persons needing accommodations for this meeting should call 801-444-9378 to make appropriate arrangements. One or more board members may participate electronically or telephonically pursuant to UCA 52-4-207.

Curriculum Associates

Prepared For:

Kelly Simonsen Advantage Arts Academy 6171 W 11800 S, Herriman, UT 84096

6/9/2023

Dear Kelly Simonsen,

Thank you for requesting a price quote from Curriculum Associates. The chart below provides a summary of the products and i-Ready Partner Services included. If you have any questions or would like any changes, please contact us.

Implementation Starting: 2023-2024 Quote ID: 327559.2 Valid through: 12/31/2023

Product	List Price	Net Price
i-Ready	\$13,900.00	\$10,732.00
i-Ready Partners Services	\$0.00	\$0.00

i-Ready Partners Services Includes:

- Initial Implementation Services: Provisioning, Initial Rostering, Hosting, Technology Assessment
- <u>Account Management</u>: Account Manager You Know On A First Name Basis, Implementation Guidance, Realtime Achievement Data After Every Assessment, Ongoing Data Management
- <u>Staff Development Consultation and Resources</u>: Consultative services to help you plan and make the most of Professional Development sessions; Access to Online Educator Learning (OEL) Digital Courses, and i-Ready Central Self-Service Resources
- <u>Technical Support</u>: Proactive Network Monitoring & Issue Notification, Annual Health Check, Technical Support

List Total:	\$13,900.00
Savings:	\$3,168.00
Shipping/Tax/Other:	\$0.00
Total:	\$10,732.00

Thank you again for your interest in Curriculum Associates.

Sincerely

Dane Moorman (801) 319-3672 dmoorman@cainc.com

Please submit this quote with your purchase order

Curriculum Associates

Quote ID: 327559.2

Date: 6/9/2023

Valid through: 12/31/2023

Prepared For:

Kelly Simonsen Advantage Arts Academy 6171 W 11800 S, Herriman, UT 84096 ksimonsen@advantagearts.org 8018788622 Your Representative:

Dane Moorman (801) 319-3672 dmoorman@cainc.com

i-Ready

Product Name	Item #	Qty	List Price	Net Price	Total
i-Ready Personalized Instruction Math and Reading Add On Site License 201-350 Students 1 Year		1	\$13,900.00	\$10,732.00	\$10,732.00
i-Ready Subtotal:					

i-Ready Partners Services

Product Name	Item #	Qty	List Price	Net Price	Total	
i-Ready Partners Implementation Support - Provisioning + Tech Support + Hosting	27939.0	1	\$0.00	\$0.00	\$0.00	
+ Data Management + Implementation Planning + Data Reviews + and Check ins 1						
Year						
i-Ready Partners Services Subtotal:						

Total	
List Total:	\$13,900.00
Savings:	\$3,168.00
Merchandise Total:	\$10,732.00
Voucher/Credit:	\$0.00
Estimated Tax:	\$0.00
Estimated Shipping:	\$0.00
Total:	\$10,732.00

Special Notes

F.O.B.: N. Billerica, MA 01862

Shipping: Shipping based on MDSE total Terms: Net 30 days, pending credit approval

Fed. ID: #26-3954988

Please submit this quote with your purchase order

N1

i-Ready Partners

Unparalleled Service and Educator Support

The *i-Ready Partners* team was born from our core value: the quality of our services is as important as the quality of our products. Know that when you implement our programs, your local *i-Ready Partners* will be there to support your team every step of the way.

Service Components

Our *i-Ready Partners* team is tasked with helping you implement our programs to meet ambitious district goals. *i-Ready Partners* support includes:

- An Account Manager You Know on a First-Name Basis: Dedicated account managers are your point of
 connection to a powerful network of i-Ready experts focused on making your implementation successful.
- **Consultative Professional Development Planning:** Tailored professional development plans ensure that PD is tied to your implementation goals and that educators are equipped to optimize the use of our programs from day one.
- **Real-Time Achievement Data after Every Assessment:** Detailed student achievement analytics to empower data-driven practices in classrooms.
- Educational Consultants to Help You Know What's Coming Next: Educational consultants to keep you up to speed on our latest research, development, and best practices.
- **Technical Support and Health Checks:** Proactive support that anticipates and heads off issues before they start—and is there for you should they arise.



Account Management



Professional Development



Educational Consultants



Achievement Analytics



Technical Support

Your *i-Ready*Partners Team

Dedicated to helping you implement *i-Ready* programs and achieve your district goals



Curriculum Associates

Placing an Order

Email: Orders@cainc.com
Fax: 1-800-366-1158

Mail:

ATTN: CUSTOMER SERVICE DEPT. Curriculum Associates LLC 153 Rangeway Rd

North Billerica, MA 01862-2013

Please visit CurriculumAssociates.com for more informationabout placing orders or contact CA's customer service department (1-800-225-0248) and reference quote numberfor questions.

Please attach quote to all signed purchase orders.

If tax exempt, please submit a valid exemption certificate with PO and quote in order to avoid processing delays. Exemption certificates can also be submitted to exempt@cainc.com.

Shipping Policy

Unless otherwise noted, shipping costs are calculated as follows:

Order Amount	Freight Amount				
\$74.99 or less	Max charge of \$12.75				
\$75.00 to \$999.99	12% of order				
\$1,000 to \$4,999.99	10% of order				

Order Amount	Freight Amount
\$5,000.00 to \$99,999.99	9% of order
\$100,000 and more	7% of order

Please contact your local CA representative or customer service (1-800-225-0248) for expedited shipping rates. The weight limit for an expedited order is 500lbs.

The enhanced shipping and handling services listed below are available upon request subject to the availability of our carrier partners. Please notify us of these delivery requests prior to submitting your PO so that we can include the service on your quote appropriately:

Interior Location Delivery

\$50/shipment location

• White Glove Delivery Service \$350/shipment location

If our carrier partners are unable to deliver to the location instructed on the PO or you need to change the time or location of delivery, one or more of the following fees may be applicable:

Delivery Address Change \$100/shipment location
 Freight Storage \$150/day/shipment location

Freight Carrier Redelivery \$100/shipment location

Unless otherwise expressly indicated, the shipping terms for all deliveries is FOB CA's Shipping Point (whether to a CA or third party facility). Risk of loss and title is passed to purchaser upon transfer of the goods to carrier, standard shipping charges (listedabove) are added to the invoice or included in the unit price unless otherwise specified.

Supply chain challenges outside of Curriculum Associates' control may impact inventory availability for print product. We recommend submission of purchase orders as soon as possible to help ensure timely delivery.

Payment Terms

Payment terms are as follows:

- With credit approval: Net 30 days
- Without credit approval: payment in full at time of order
- Accounts must be current before subsequentshipments are made

To ensure payment processing is timely and environmentally conscious, CA encourages ACH payments. If you would like to pay via ACH, please request remittance information by emailing AR@cainc.com.

Please send any payment notifications to payments@cainc.com. Credit card payments are only accepted for purchases under \$50,000.

Invoice Receipt Preference

CA is pleased to offer electronic invoice delivery. Electronic invoice delivery allows CA to deliver your invoice in a timely and environmentally friendly manner. To request electronic invoice delivery please contact the CA Accounts Receivable team at invoices@cainc.com or by fax (1-800-366-1158). Please reference your quote number, provide a valid email address where the invoice should be directed, and indicate you would like to opt into electronic invoice delivery.

Terms of Service

Customer's use of i-Ready® shall be subject to the i-Ready Terms and Conditions of Use, which can be found at i-ready.com/support. Customer's professional-development sessions will expire two years following the date of your purchase order and are subject to the Professional Development Terms of Service, which can be found at https://www.curriculumassociates.com/PDTOS.

Return Policy

Except for materials sold on a non-refundable basis, purchaser may return, at purchaser risk and expense, purchased materials with pre-approval from CA's Customer Service department within 12 months of purchase. Please examine your order upon receipt. Before returning material, call CA's Customer Service department (1-800-225-0248 option 4) for return authorization and documentation. When returning material, please include your return authorization number and the return form that will be provided to you by CA's Return department. i-Ready®, Toolbox®, and BRIGANCE® Online Management Systems may be returned for a pro-rated refund for the remaining time left on the contract. We do not accept returns on unused i-Ready or Toolbox licenses®, materials that have been used and/or are not in "saleable condition," and individual components of kits or sets including but not limited to BRIGANCE® Kits, Ready® student and teacher sets, Ready Classroom® student and teacher sets, and Magnetic Reading classroom kits.



DRAFT QUOTE

PO Box 160250 Clearfield, UT 84016

801-773-3200

Fax 801-773-3265

www.mssd.com

	Bill To: Advantage Arts Academy Attn: Office 290 N Flint St Kaysville, UT 84037				Ship To: Advantage Arts Academy Attn: Office 6171 W 11800 S Herriman, UT 84096			
		Account Number Date	500375 06/09/2023		Draft	Number		90635
Line #	Pub	ISBN-13	Description	Ту	Yr	Qty	Price	Amount
(1)	CUR	978-172805560-2	i-Ready Learning K Magnetic Reading Foundations Stdnt WB Set	WB	23	72	25.00	1800.00
(2)	CUR	978-172805566-4	i-Ready Learning K Magnetic Reading Foundations TG Set 1Yr	TE	23	3	70.00	210.00
(3)	CUR	978-172805570-1	i-Ready Learning K-2 Magnetic Reading Foundations Tchr Digital Set 1Yr	OX	23	7	75.00	525.00
(4)	CUR	978-172805561-9	i-Ready Learning 1 Magnetic Reading Foundations Stdnt WB Set	WB	23	62	25.00	1550.00
(5)	CUR	978-172805567-1	i-Ready Learning 1 Magnetic Reading Foundations TG Set 1Yr	TE	23	2	70.00	140.00
(6)	CUR	978-172805562-6	i-Ready Learning 2 Magnetic Reading Foundations Stdnt WB Set	WB	23	58	25.00	1450.00
(7)	CUR	978-172805568-8	i-Ready Learning 2 Magnetic Reading Foundations TG Set 1Yr	TE	23	2	70.00	140.00
(8)	CUR	978-172803815-5	i-Ready Learning 3 Magnetic Reading Stdnt Bk	TX	22	44	70.00	3080.00
(9)	CUR	978-172803816-2	i-Ready Learning 4 Magnetic Reading Stdnt Bk	TX	22	46	75.00	3450.00
(10)	CUR	978-172803817-9	i-Ready Learning 5 Magnetic Reading Stdnt Bk	TX	22	54	15.00	810.00

Comments: Subtotal Shipping

Sales Tax 0.00

Estimated Total \$13,590.74

13,155.00

435.74



DRAFT QUOTE

(24)

CUR

978-172805962-4

PO Box 160250 Clearfield, UT 84016 801-773-3200 Fax 801-773-3265

www.mssd.com

Bill To:Ship To:Advantage Arts AcademyAdvantage Arts AcademyAttn: OfficeAttn: Office290 N Flint St6171 W 11800 S

290 N Flint St Herriman, UT 84096 Kaysville, UT 84037 500375 91543 **Account Number Draft Number** 07/05/2023 Date Pub ISBN-13 Description Yr Price Line # Ty Qty Amount (1) CUR 978-172804662-4 i-Ready Classroom Math K Stdnt Wrktx Vol 1 TX 24 72 13.50 972.00 CUR 978-172804663-1 (2) i-Ready Classroom Math K Stdnt Wrktx Vol 2 72 13.50 972.00 TX 24 (3) CUR 978-172805951-8 i-Ready Classroom Math CC K TG Vol 1 TE 24 3 70.00 210.00 CUR 978-172805952-5 i-Ready Classroom Math CC K TG Vol 2 3 70.00 (4) TE 24 210.00 (5) CUR 978-172804664-8 i-Ready Classroom Math 1 Stdnt Wrktx Vol 1 ΤX 24 62 13.50 837.00 (6) CUR 978-172804665-5 i-Ready Classroom Math 1 Stdnt Wrktx Vol 2 TΧ 24 62 13.50 837.00 CUR 2 (7) 978-172805953-2 i-Ready Classroom Math CC 1 TG Vol 1 TF 24 70.00 140.00 CUR 978-172805954-9 i-Ready Classroom Math CC 1 TG Vol 2 2 (8) TE 24 70.00 140.00 (9)CUR 978-172804666-2 i-Ready Classroom Math 2 Stdnt Wrktx Vol 1 TX 24 58 13.50 783.00 (10)CUR 978-172804667-9 i-Ready Classroom Math 2 Stdnt Wrktx Vol 2 58 783.00 TΧ 24 13.50 (11)CUR 978-172805955-6 i-Ready Classroom Math CC 2 TG Vol 1 TE 24 2 70.00 140.00 i-Ready Classroom Math CC 2 TG Vol 2 2 (12)CUR 978-172805956-3 ΤE 24 70.00 140.00 CUR i-Ready Classroom Math 3 Stdnt Wrktx Vol 1 44 13.50 594.00 (13)978-172804668-6 TX 24 (14)CUR 978-172804669-3 i-Ready Classroom Math 3 Stdnt Wrktx Vol 2 24 44 13.50 594.00 TX CUR 978-172805957-0 i-Ready Classroom Math CC 3 TG Vol 1 2 (15)TE 24 70.00 140.00 (16)CUR 978-172805958-7 i-Ready Classroom Math CC 3 TG Vol 2 ΤE 24 2 70.00 140.00 CUR (17)978-172804670-9 i-Ready Classroom Math 4 Stdnt Wrktx Vol 1 TΧ 24 46 13.50 621.00 CUR (18)978-172804671-6 i-Ready Classroom Math 4 Stdnt Wrktx Vol 2 TX 24 46 13.50 621.00 CUR i-Ready Classroom Math CC 4 TG Vol 1 2 (19)978-172805959-4 TE 24 70.00 140.00 (20)CUR 978-172805960-0 i-Ready Classroom Math CC 4 TG Vol 2 TE 24 2 70.00 140.00 (21)CUR 978-172804672-3 i-Ready Classroom Math 5 Stdnt Wrktx Vol 1 TΧ 24 54 13.50 729.00 (22)CUR 978-172804673-0 i-Ready Classroom Math 5 Stdnt Wrktx Vol 2 TX 24 54 13.50 729.00 2 (23)CUR 978-172805961-7 i-Ready Classroom Math CC 5 TG Vol 1 ΤE 24 70.00 140.00

i-Ready Classroom Math CC 5 TG Vol 2

2

TF

24

70.00

140.00



DRAFT QUOTE

PO Box 160250 Clearfield, UT 84016

Ship To:

801-773-3200

Fax 801-773-3265

www.mssd.com

Bill To:

Advantage Arts Academy Advantage Arts Academy

Attn: Office Attn: Office 6171 W 11800 S 290 N Flint St Herriman, UT 84096 Kaysville, UT 84037

500375 **Account Number** 91543 **Draft Number** 07/05/2023 Date

Line # Pub ISBN-13 Description Ту Yr Qty Price Amount

Comments: Subtotal

10,892.00 375.77 **Shipping**

0.00 Sales Tax

Estimated Total \$11,267.77